Solve the Triangle
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Law of Cosines

For any AABC, the Law of Cosines relates the cosine
of each angle to the side lengths of the triangle.

a’l=b%2+c%2-2bccos A

b2 = a2 + ¢2 — 2ac cos B

c2=a2+b%2-2abcosC




What is BC to the nearest tenth?
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a. What is DE?

CL:- dz‘\' GL—DJC Ceos F

-CL= 32'4‘61—:1(83((.3 cos G2°

£-77.4




b. What is GH?
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What is mzZ X?
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What is mZP?
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The optimal tilt for Keenan’s solar panel is
between 58° and 60° to the horizontal. Has
Keenan placed his solar panel at an optimal
angle?
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The district ranger wants to build a new ranger
station at the location of the fire tower because
it would be closer to Bald Mountain than the old
station is. Is the district ranger correct? Explain.
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4. Assume a path is drawn from the fire tower to
Bald Mountain. What is the angle the new path
forms with the old path from Bald Mountain to
the ranger station?

Bald Mountain




What is PR to the nearest tenth?
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. What is mZB to the nearest tenth?
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12. Use the Law of Cosines to find the diagonal
of the parallelogram.




Solve the Triangle
MLA =257 M/l B=%>3 =598
msC=110° b=35mi,&=38 mi

5.8

C L I

3y _ S%«¥
SinA Sina llo°
SaA¢sinA= 38 smilo
SinA= 3;;;”00
Sin” (é%‘ﬁ“—>: N

m(A:‘.b(l-—’

C = ’>Sz—+'.'>SL— 2 C's'a) C::*b cos )lo”

MLA=)o) wmid= miC=

A
20 ft_~lo%) N 17 ft

C 30 ft B

0 = 254 17 =2 (zo)() cos A

900 = (%9 — (L 30 cos A
A=~ CosA

-2l
o5 A =
Cos e yo
'Qa _ Yo 1 30
SJ'\ Sia lo3.1 S.nl .5m (08|

___‘ <’2asnm> —l 3!—’, 32

Lo J2 o8 Sin 12%1 = & C
Sin LY~

2.0



During a figure skating routine, Jackie and Peter skate apart with an angle of 15° between
them. Jackie skates for 5 meters and Peter skates for 7 meters. How far apart are the

skaters?
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On a map, Orlando is 178 mm due south of Niagara Falls, Denver is 273 mm from
Orlando, and Denver is 235 mm from Niagara Falls. Find the angle at Niagara Falls.
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A triangular playground has sides of lengths 475 feet, 595 feet, and 401 feet. What are the
measures of the angles between the sides, to the nearest tenth of a degree?



